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1. X is nonnegative random variable with E(X) =
3 and SD(X) = 2. True, False or Maybe:
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Both Markov’s and Chebyshev’s give values bigger than
1/3 when we think about P(X>= sqrt(40))
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We can solve for E[x*2] and using Markov Inequality, we go
1/4 and it is true for both that it is less than 1/4 and 1/3.
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A building has 10 floors above the basement. If 12 people get into an elevator at the
basement, and each chooses a floor at random to get out, independently of the others,
at how many floors do you expect the elevator to make a stop to let out one or more

of these 12 people? ? - (%;)Tl
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1. A fair die is rolled 14 times. Let X be the
number of faces that appear exactly twice.
Which of the following expressions appear

\D in the calculation of Var(X)

\f% a T4 13+ (1) (1/6)2(1/6)(4/6)')
14><1/6> 5162

¢ more than one of the above B( ) (_,.)
b

d none of the above ‘
>< < & {fago\ Mol appew Halee, 4

!
X =Tt -l-'x:6 T g; }:u’i Luce Cmelfs'?“ci

\
T, M 1” 2w Z"& Lo t‘.l)g\eﬂ/"“"t
v) €($L \

- (% O

T
Nar (= W, + N@-DP, = @\P)

1



6. A drawer contains s black socks and s white socks, where s is a positive integer. I pull two socks
out at random without replacement and call that my first pair. Then I pull two socks out at random
without replacement from the remaining socks in the drawer, and call that my second pair. I proceed

in this way till I have s pairs and the drawer is empty. w B
Let D be the number of pairs in which the two socks are of different colors. 3\ /S
a) Find E(D). -— Q 2(!)
b) Find Var(D). \ - (‘2.5)
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